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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]

3200

3000 -

2800 -

2600

2400

2200 -

2000

Warning: col ['FVOEC'] is missing

—&— ECO

12




Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-4 0
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BFiE) | GEBIETK (FD) | EE (EH/AR) | XK R

07:45 48 40.0 |Z=| 1BRi&e07:45 Bzl (GRAEREE)
08:40 48 40.0 (Z=| 1BRi%e08:40 Bzh (REERSE)
10:20 48 40.0 [2=| {Ri%e10:20 B (REAHERESE)
12:15 48 40.0 | =| ®Rige12:15 Bz (GRAERSE)
14:10 48 40.0 BHl 1Bige14:10 Bz (REAEREEE)
15:55 48 40.0 FA| 1Ri%@15:55 B (KRAHEREEE)
Bit| 288.0 (6%) 240.0 3ZHKEC: 2370.0, PH: 6.5

EREBRIR LTSN (0.53 vs 0.6), FIREA S MEENEBEESKERE

FORGEBRT KR IRAR B2 IY (48 vs 68.0))

ZRIASERRIERE28. 0 ml.

FERSERIPH (10.32) 5igEPH (6.5) REKK, BT
BEXRERIPH (10.32) 5FMPH (6.5) REK K, HRE

FURGEBIEC (1970.0) 5 E{E (2370.0) REK K, BT,
LOREBIEC (1970.0) S51EHEIEY (2370.0) REKK, BRE.

LRGEBIPH (10.4) 5i8FE (6.5) RERKK, BFRE.

EORGEEBPH (10.4) S5R&RAGEY (6.5) RERK, FRE.
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06:40 57 40.0 (=] {Ri%06:40 Bz (REAKESE)
08:40 57 40.0 | =| {Ri%e08:40 Bz (kAEREE)
23 1140 @2%) 80.0 323 KEC: 2373.0, PH: 6.5

EIRGEBRRTHCRIZIREI I (57 vs 74.0))

EXIASEPRIEBE31.0 ml.

REXFEBPH (10.29) 5i&%EPH (6.5) RER K, HFHRE
REXEEBPH (10.29) 5FMIPH (6.5) REK KA, BFHRE
REXEEBIEC (1966.0) SiZFEEC (2373.0) REK K, HHRE
REFREREC (1966.0) SFMEC (2458.0) REKK, BFHRE
EXGEBPH (10.4) 518 %EE (6.5 RERK, BRE.
ERGEBPH (10.4) S5FREW (6.5 RERK, HRE.
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BYE) | GEBERTIC (B)) | EBE (EAH/#K) | XS R

06:35 53 40.0 FH| 1BRi&@06:35 Bzh (RFAEREEE)
07:00 53 40.0 | =| 1Rige07:00 B (kAHEREE)
10:25 53 40.0 | =| Rig010:25 B (kAEREE)
12:55 53 40.0 (Z=| 1Bige12:55 Bzh (REERESE)
Bit| 212.0 (4%) 160.0 323 KEC: 2460.0, PH: 6.5

EREBRIERLL TR A (0.64 vs 0.58)), AIREE ZIRREIENREEIRK
FORGEBR KR IRAR B2 (53 vs 74.0))

ZRIASERRIERE29. 0 ml.

FERZERPH (10.23) 5i&5EPH (6.5) REK K, BHAT
BEXEBIPH (10.23) 5FMPH (6.5) REK K, HRE

FEREBIEC (2174.0) 5FMEC (2692.0) REK K, HHRE

EUGERPH (10.2) 5i8EE (6.5) REKK, FHE.

LRGERIPH (10.2) S5#RBIE (6.5) RERK, BRE,
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